BID

CITY OF MANHATTAN BEACH

Street Resurfacing Project – Cycle 2 Project number: P-919

TO THE HONORABLE MAYOR AND CITY COUNCIL OF THE CITY OF MANHATTAN BEACH:

The undersigned, as Bidder, declares that: (1) this Bid is made without collusion with any other person and that the only persons or parties interested as principals are those named herein; (2) the undersigned has carefully examined the Contract Documents (including all Addenda) and the Project site; and (3) the undersigned has investigated and is satisfied as to the conditions to be encountered, the character, quality and quantities of Work to be performed, and the materials to be furnished. Furthermore, the undersigned agrees that submission of this Bid shall be conclusive evidence that such examination and investigation have been made and agrees, in the event the Contract be awarded to it, to execute the Contract with the City of Manhattan Beach to perform the Project in accordance with the Contract Documents in the time and manner therein prescribed, and to furnish or provide all materials, labor, tools, equipment, apparatus and other means necessary so to do, except as may otherwise be furnished or provided under the terms of the Contract Documents, for the following stated unit prices or lump-sum price as submitted on the Bid herein.

This Bid is made with the full knowledge of the kind, quantity, and quality of the materials and Work required and, if it is accepted by the City, the Bidder shall enter into a Contract and furnish the bonds, insurance, and other documents as required by the Contract Documents within ten calendar days after award of the Contract. The Bidder agrees that failure to execute and return the Contract or the required faithful performance bond, labor and materials payment bond, warranty bond, and insurance certificates to the City within the ten calendar day period shall be sufficient cause for the rescission of the award and forfeiture of the Bid Security to the City to the extent permitted by law.

Accompanying this Bid is cash, a cashier's check, a certified check or a Bid Bond in an amount equal to at least ten percent of the total aggregate Bid price based on the quantities shown and the unit prices quoted. The undersigned further agrees that, should it be awarded the Contract and thereafter fail or refuse to execute the Contract and provide the required evidence of insurance and Bonds within ten calendar days after delivery of the Contract to the undersigned, then the cash, check or Bid Bond shall be forfeited to the City to the extent permitted by law.

CITY OF MANHATTAN BEACH

BID SCHEDULE FOR

Street Resurfacing Project – Cycle 2 Project number: P-919

Bidder's Name:

Hardy & Harper, Inc.

Bidder's Address:

32 Rancho Circle, Lake Forest, CA 92630

To the Honorable Mayor and Members of the City Council:

In compliance with the Notice Inviting Bids, the undersigned hereby agrees to execute the Contract to furnish all labor, materials, equipment and supplies for the Project in accordance with the Contract Documents to the satisfaction and under the direction of the City Engineer, at the following prices:

Base Bid Items as Follows:

BASE BID SCHEDULE:

ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICES	EXTENDED AMOUNT
1		Mobilization	LS	1	$\Delta \Delta$	\$
2		Clearing and Grubbing	LS	1(\$
3	11	SWPPP/BMP's	LS	The state of the s		\$
4		Construction Survey Staking	LS	1	2	\$
5		Remove Existing Concrete Curb, Concrete Curb and Gutter, Wood Curb and Concrete Band	LF	2	\$	\$
6	2	Remove Existing Asphalt Concrete Pavement	SF	51,780	\$	\$
7		Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewa Jk Improvements	SF	9,896	\$	\$
8		Remove Existing Catch Basin	EA	1	\$	\$
9	6	Rrune/Grind Tree Roots	EA	1	\$	\$
10		Unclassified Excavation	CY	1,250	\$	\$
11		Construct Standard 6" Curb with 12" Gutter	LF	403	\$	\$
12		Construct 4" Type C Rolled	LF	2,916	\$	\$

TEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICES	EXTENDED AMOUNT
13		Construct Curb and Gutter, Curb, Rolled Curb, Swale and Band Transitions	LF	274	\$	\$
14		Construct Standard Sidewalk	SF	183	\$	\$
15		Construct Access Ramp, including Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA	3	\$	\$
16		Construct Cross Gutter/Spandrel	SF	90	\$	\$
17		Construct 6" Wide Concrete Band	LF	292	\$	\$/
18	-	Construct 4" AC over 6" AB Roadway Structural Section	SF (50,845	\$	\$
19		Construct 6" AC Pavement Slot Pave	/bF	51	\$	\$
20		Construct AC Pavement behind New Curb	SF	595	\$	\$
21		Construct Concrete Pavement behind New Curb	SF	3,067	\$	\$
22		Construct Brick Pavement behind New Curb	SF	446	\$	\$
23		Construct Concrete Paver and/or Stone Pavement behind New Curb	SF	422	\$	\$
24		Construct Turf Block behind New Curb	SF	80	\$	\$
25		Furnish and Install 18" RCP	LF	7	\$	\$
26		Connect to Existing Pipe with PCC Collar	EA	1	\$	\$
27		Construct Curb Opening Catch Basin with Manhole in Street (Case B)	EA	1	\$	\$
28	11	Adjust Manhole to Grade	EA	5	\$	\$
29		Adjust Valve, Water Meter and Electrical Box to Grade	EA	24	\$	\$
30		Relocate Water Meter and Reconnect Service Line	EA	11	\$	\$
31		Recover and Reinstall the In Road Warning Lights System	LS	1		\$
32		Signing and Striping	LS	1		\$
33		Traffic Control	LS	1		\$
			OTAL	BASE E	BID	\$

ADDITIVE BID SCHEDULE A FLOURNOY SOUTH

ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICES	EXTENDED AMOUNT
A1		Mobilization	LS	1		\$
A2		Clearing and Grubbing	LS	(1)	$\langle \langle \rangle$	\$
А3		SWPPP/BMP's	LS			\$ -
A4		Construction Survey Staking	LS	1		\$
A5		Mill Existing Pavement to a Depth of 1.5"	SF	10,835	\$	\$
A6		Construct Standard 6" Curb with 12" Gutter	LF	44	\$	\$
Α7		Construct Access Ramp, including Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA	2	\$	\$
A8		Construct 6" AC Pavement Slot Pave	LF	47	\$	\$
A9	(Construct 1.5" ARHM Overlay	SF	10,835	\$	\$
A10		Furnish and Place Glasspave 25 Paving Fabric	SF	10,835	\$	\$
A11	11	Adjust Manhole to Grade	EA	1	\$	\$
A12		Signing and Striping	LS	1		\$
A13		Traffic Control	LS	1		\$
		TOTA	AL A	DDITIVIE	BID A	\$

ADDITIVE BID SCHEDULE B FLOURNOY NORTH

: ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICES	EXTENDED AMOUNT
B1		Mobilization	LS	1		\$
B2		Clearing and Grubbing	LS	1		\$
В3		SWPPP/BMP's	LS	1		\$
B4		Construction Survey Staking	LS	1		\$
В5		Remove Existing Concrete Curb, Concrete Curb and Gutter, Wood Curb and Concrete Band	LF	288	\$	\$
В6		Remove Existing Tree	EA	8	\$	\$
В7		Remove Existing Asphalt Concrete Pavement	SF	53,273	\$	3
В8		Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewa Ik Improvements	SF	3,472	\$	\$
B9		Unclassified Excavation	CY	1,195	\$	\$
B10	,	Construct 6" Curb, Type A1-	LF	46	\$	\$
B11		Construct Standard 6" Curb with 12" Gutter	LF	666	\$	\$
B12		Construct Standard 8" Curb with 18" Gutter	LF	14	\$	\$
B13	1	Construct 4" Type C Rolled Curb	LF	2,237	\$	\$
B14		Construct Curb and Gutter, Curb, Rolled Curb, Swale and Band Transitions	LF	300	\$	\$
B15	(Construct Standard Sidewalk	SF	1,878	\$	\$
B16		Construct Access Ramp, including Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA	5	\$	\$
B17		Construct Cross Gutter/Spandrel	SF	319	\$	\$
B18		Construct 6" Wide Concrete Band	LF	231	\$	\$
B19		Construct 4" AC over 6" AB Roadway Structural Section	SF	48,749	\$	\$

ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICES	EXTENDED AMOUNT
B20		Construct AC Pavement behind New Curb	SF	1,419	/\$	\$
B21		Construct Concrete Pavement behind New Curb	SF	1,175	\$	\$
B22		Construct Brick Pavement behind New Curb	SF	382	\$	\$
B23		Construct Concrete Paver and/or Stone Pavement behind New Curb	SF	92	\$	\$
B24		Construct Turf Block behind New Curb	SF	92	\$	\$
B25		Construct Parkway Culvert Connection to Existing Catch Basin	25	1	\$	\$
B26		Adjust Manhole to Grade	ĘΑ	4	\$	\$
B27		Adjust Valve, Water Meter and Electrical Box to Grade	EA	12	\$	\$
B28	11	Remove and Reconstruct Residents Pathway to Join Existing Gate Access	SF	13	\$	\$
B29		Eurnish and Plant Turf	SF	232	\$	\$
B30		Signing and Striping	LS	1		\$
B31		Traffic Control	LS	1		\$.
(TOTA	AL A	DDITIVIE	BID B	\$

ADDITIVE BID SCHEDULE C MARINE AVENUE

: ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT PRICES	EXTENDED AMOUNT
C1		Mobilization	LS	1 /		\$
C2		Clearing and Grubbing	LS	1	$\backslash \triangle$	\$
С3		SWPPP/BMP's	LS		//	\$
C4		Construction Survey Staking	LS			\$
C5		Remove Existing Concrete Curb, Concrete Curb and Gutter, Wood Curb and Concrete Band	LF	62	\$	\$
C6		Remove Existing Asphalt Concrete Pavement	SF	31,712	\$	\$
С7		Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewa Ik Improvements	SF	2,634	\$	\$
C8		Unclassified Excavation	CY	629	\$	\$
C9		Construct Standard 6" Curb with 12" Gutter	LF	27	\$	\$
C10	7	Construct 4" Type C Rolled	LF	1,790	\$	\$
C11_		Construct Curb and Gutter, Curb, Rolled Curb, Swale and Band Transitions	LF	170	\$	\$
C12		Construct 4" AC over 6" AB Roadway Structural Section	SF	26,070	\$	\$
C13		Construct AC Pavement behind New Curb	SF	1,003	\$	\$
C14		Construct Concrete Pavement behind New Curb	SF	1,785	\$	\$
C15		Construct Brick Pavement behind New Curb	SF	526	\$	\$
C16		Construct Turf Block behind New Curb	SF	58	\$	\$
C17		Adjust Manhole to Grade	EA	3	\$	\$
C18		Adjust Valve, Water Meter and Electrical Box to Grade	EA	3	\$	\$
C19		Relocate Water Meter and Reconnect Service Line	EA	1	\$	\$

ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY		EXTENDED AMOUNT
C20		Signing and Striping	IS	1		\$
C21		Traffic Control	LS	1		\$
		TOTA	AL AI	ODITIVIE	BID C	\$

ADDITIVE BID SCHEDULE D 14th STREET

: ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT	EXTENDED AMOUNT
D1		Mobilization	LS	\bigcirc 1		\$/>
D2		Clearing and Grubbing	LS	4		\$
D3		SWPPP/BMP's	LS	1	(1)	\$
D4		Construction Survey Staking	Ls	I		\$
D5		Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewa Ik Improvements	SF	940	\$	\$
D6		Mill Existing Pavement to a Depth of 1,5"	SF	10,340	\$	\$
D7		Construct Standard Sidewalk	SF	250	\$	\$
D8		Construct Access Ramp, including Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA	2	\$	\$
Da		Construct Cross Gutter/Spandrel	SF	440	\$	\$
D10		Construct 6" AC Pavement Slot Pave	LF	100	\$	\$
D11		Construct 1.5" ARHM Overlay	SF	10,340	\$	\$
D12	· · · · ·	Furnish and Place Glasspave 25 Paving Fabric	SF	10,340	\$	\$
D13		Signing and Striping	LS	1		\$
D14		Traffic Control	LS	1		\$
		TOTA	ÀL AI	DDITIVIE	BID D	\$

ADDITIVE BID SCHEDULE E Additive Bulb-outs:

: ITEM NO.	CODE	DESCRIPTION	UNIT	ESTIMATED QUANTITY	UNIT	EXTENDED AMOUNT
		P-921 Bulb out		// // -))	
E1		Improvements at	LS	1)) -		\$
		Marine/25 th per Sheet 38	77			
		P-921 Bulb Out	/ //			
E2		Improvements at \	LS	1		\$
EZ		Ardmore/Flournoy per	1) 13	1		Ψ
		Sheet 39				
		TOTA	L A	DDITIVIE	BID E	¢
						Ψ

NOTES:

- 1) In the CODE column (S) denotes a specialty item, (%) denotes progress payments for that lump sum item will be allowed based on the percentage of completion in each pay period, and (C) denotes payments will be made after the completion of the lump sum item. See Subsection 9-2.1 of the General Provisions for details.
- 2) In the UNIT column (LS) denotes a lump sum item. See Section 9 of the General Provisions for details Estimated quantities are for the purpose of Bid comparison only; payments will be made on the basis of actual measurement of Work completed, except for lump sum (LS) items. For lump sum items, see Note 1. The Bid Price shall include, but not limited to, sales tax and all other applicable taxes and fees.
- 3) Items may be adjusted or deleted. Therefore, regardless of total actual volume (percentage) compared to estimated quantities, the unit prices provided above by the Bidder shall be applied to the final quantity when payment is calculated for these items. No adjustment in the unit prices will be allowed. The City reserves the right to not use any of the estimated quantities; and if this right is exercised, the Contractor will not be entitled to any additional compensation. Cost of all export of material shall be included in the above unit costs; no additional compensation will be granted for such expenses.

TOTAL BASE BID PRICE IN DIGITS \$ 1,870,000.00 TOTAL BASE BID PRICE IN WORDS: One million, eight hundred seventy thousand dollars.
TOTAL ADDITIVE BID A IN DIGITS \$ 80,000.00 TOTAL ADDITIVE BID A IN WORDS: Eighty thousand dollars.
TOTAL ADDITIVE BID B IN DIGITS \$ 1,110,000.00 TOTAL ADDITIVE BID B IN WORDS: One million, one hundred ten thousand dollars.
TOTAL ADDITIVE BID C IN DIGITS \$ 570,000.00 TOTAL ADDITIVE BID C IN WORDS: Five hundred seventy thousand dollars.
TOTAL ADDITIVE BID D IN DIGITS \$ 105.000.00 TOTAL ADDITIVE BID D IN WORDS: One hundred five thousand dollars.
TOTAL ADDITIVE BID E IN DIGITS \$ 65,000.00 TOTAL ADDITIVE BID E IN WORDS: Sixty-five thousand dollars.
The undersigned certifies to have a minimum of three consecutive years of current experience in the type of Work related to the Project and that this experience is in actual operation of the firm with permanent employees performing a part of the Work as distinct from a firm operating entirely by subcontracting all phases of the Work. The undersigned also certifies to be properly licensed by the State as a contractor to perform this type of Work. The undersigned possesses California Contractor's License
Number <u>215952</u> , Class <u>A, C8</u> , which expires on <u>12/31/2023</u> .
Signature: Title: Vice President Date: 3/7/2023
Signature: Title: Corp. Secretary Date: 3/7/2023

BIDDER'S PROPOSAL - CONTRACTOR'S STATEMENT

STREET RESURFACING PROJECT – CYCLE 2 Project number: P-919

Fill out all of the following information. Attach additional sheets if necessary.

(1)	Bidder's Name: <u>Hardy & Harper, Inc.</u>
(2)	If the Bidder's name is a fictitious name, who or what is the full name of the registered owner? If the Bidder's name is not a fictitious name, write "N/A" in the response to this question. If you are doing business under a fictitious name, provide a copy of the filed valid Fictitious Business Name Statement. N/A
(3)	Business Address: 32 Rancho Circle, Lake Forest, CA 92630
(4)	Telephone: 714-444-1851 Email: mmurray@hardyandharper.com
(5)	Type of Firm – Individual, Partnership, LLC or Corporation: Corporation
(6)	Corporation organized under the laws of the State of: California
(7)	California State Contractor's License Number and Class: 215952 A, C-8 & C12
	Original Date Issued: 3/13/1963 Expiration Date: 12/31/2023
(8)	DIR Contractor Registration Number: 1000000076
(9)	List the name and title of the person(s) who inspected the Project site for your firm: <u>Cody Gawryluk, Senior Estimator</u>
(10)	Number of years' experience the company has as a contractor in construction work: 77
(11)	List the names, titles, addresses and telephone numbers of all individuals, firm members, partners, joint ventures, and company or corporate officers having a principal interest in this Bid: Daniel Maas - President - 32 Rancho Circle, Lake Forest, CA - (714) 444-1851
	Michael Murray - Vice President - 32 Rancho Circle, Lake Forest, CA - (714) 444-1851
(12)	Tanner Hambright - Vice President - 32 Rancho Circle, Lake Forest, CA - (714) 444-1851 Kristen Paulino - Corporate Secretary - 32 Rancho Circle, Lake Forest, CA - (714) 444-1851 List all current and prior D.B.A.'s, aliases, and fictitious business names for any principal having interest in this Bid: N/A

	arbitrations, lawsuits, settlements and the like (in or out of court) that the company principal having an interest in this Bid has been involved with in the past five years:
a.	List the names, addresses and telephone numbers of contact persons for the parties:
	N/A
b.	Briefly summarize the parties' claims and defenses:
	N/A
C.	State the tribunal (e.g., Superior Court, American Arbitration Association, etc.), the matter number, and the outcome:
	N/A
	he company or any principal having an interest in this Bid ever had a contract lated by the owner or agency? If yes, explain.
No	

No	
	<i>\(\)</i>
	the company or any principal having an interest in this Bid ever been termina e, even if it was converted to a "termination of convenience"? If yes, explain
110	
	projects that the company or any principal having an interest in this Bid haved with in the last five years, did you have any claims or actions:
a.	By you against the owner? Circle one: Yes No
b.	By the owner against you? Circle one: Yes No
C.	By any outside agency or individual for labor compliance? Circle one: Yes No
d.	By Subcontractors? Circle one: Yes No
e.	Are any of these claims or actions unresolved or outstanding? Circle one: Yes No
If yo	ur answer is "yes" to any part or parts of this question, explain.
N/A	
	the company or any of its principals ever been debarred by any agencies? se explain.
No	

For all public agency projects in excess of \$15,000.00 that you are currently working on (20)or have worked on in the past two years, provide the following information: Project 1 Name/Number Ramon Road Resurfacing & Trinity Circle Drainage Improvements Project Description Cold Plane, PCC, HMA, Signing, Striping & Marking From: September 2022 To: November 2022 Approximate Construction Dates Agency Name: County of Riverside Contact Person: Hector Davila Telephone: 951-955-6780 Address: 3525 14th Street, Riverside, CA 92501 Original Contract Amount: \$1,826,000.00 Final Contract Amount: \$1,534,041.28 If final amount is different from original amount, please explain (change orders, extra work, etc.). Quantities Billed Did you or any Subcontractor, file any claims against the Agency? Circle one: Yes (No) Did the Agency file any claims against you? Circle one: Yes If you answered yes to either of the above two questions, please explain and indicate outcome of claims. 1 S

Gairris.
N/A
Project 2 Name/Number Residential Street Pavement Rehabilitation Project, Area 1
Project Description Survey, Crack Seal, Cold Mill, HMA, ARHM, PCC, Utility Adjusting, Loops
Approximate Construction Date From: March 2022 To: June 2022
Agency Name: City of Downey
Contact Person: Desi Gutierrez Telephone: 562-904-7110
Address: 11111 Brookshire Avenue, Downey, CA 90241
Original Contract Amount: \$2,875,000.00 Final Contract Amount: \$3,189,408.55
If final amount is different from original amount, please explain (change orders, extra work, etc.).
Change Order
B-15

Did you or any Subcontractor, file any claims against the Agency? Circle one: Yes No
Did the Agency file any claims against you? Circle one: Yes No
If you answered yes to either of the above two questions, please explain and indicate outcome of claims.
N/A
Project 3 Name/Number Residential Street Improvement Project, Lotus & Torry - Group 13
Project Description PCC, Cold Mill, Slurry Seal, Paving, Utility Adjusting, Striping & Marking
Approximate Construction Dates From: <u>June 2021</u> To: <u>March 2022</u>
Agency Name: City of Anaheim
Contact Person: Lorenzo Rea Telephone: 714-765-6893
Address: 200 S. Anaheim Blvd, Anaheim, CA 92805
Original Contract Amount: \$5,806,000.00 Final Contract Amount: \$5,686,157.06
If final amount is different from original amount, please explain (change orders, extra work, etc.).
Change Order
Did you or any Subcontractor, file any claims against the Agency? Circle one: Yes No
Did the Agency file any claims against you? Circle one: Yes No
If you answered yes to either of the above two questions, please explain and indicate outcome of claims.
N/A
Project 4 Name/Number Street Improvements at Various Locations
Project Description PCC, Cold Mill, Paving, Utility Adjusting, Loop, Striping
Approximate Construction Dates From: July 2021 To September 2021

Agency Name: City of Hermosa Beach
Contact Person: Romany Basilyous Telephone: 310-318-0263
Address: 131 Valley Drive, Hermosa Beach, CA 90254
Original Contract Amount: \$815,000.00 Final Contract Amount: \$972,366.48
If final amount is different from original amount, please explain (change orders, extra work, etc.).
Change Order
Did you or any Subcontractor, file any claims against the Agency? Circle one: Yes No
Did the Agency file any claims against you? Circle one: Yes No
If you answered yes to either of the above two questions, please explain and indicate outcome of claims.
N/A
Project 5 Name/Number The Avenues Pavement Rehabilitation SB-1 Project
Project Description Slurry Seal, Grinding, Paving, Dike, PCC, CPM Storm Drain, Striping
Approximate Construction Dates From: September 2021 To: October 2021
Agency Name: City of Lake Elsinore
Contact Person: Carlos Norvani Telephone: 951-674-3124
Address: 130 S. Main Street, Lake Elsinore, CA 92530
Original Contract Amount: \$1,199,000.00 Final Contract Amount: \$1,213,876.98
If final amount is different from original amount, please explain (change orders, extra work, etc.).
Change Order
\(\frac{1}{2}\)
Did you or any Subcontractor, file any claims against the Agency? Circle one: Yes No
Did the Agency file any claims against you? Circle one: Yes (No)

If you answered yes to either of the above two questions, please explain and indicate outcome of claims.
<u>N/A</u>
<u> </u>
Project 6 Name/Number FY 2020-2021 Street Improvement Project
Project Description Survey, Cold Mill, AC Overlay, Slurry Seal, Utility Adjusting, Striping
Approximate Construction Dates From: June 2021 To: August 2021
Agency Name: City of Chino Hills
Contact Person: Fe Rama Telephone: 909-364-2776
Address: 14000 City Center Drive, Chino Hills, CA 91709
Original Contract Amount: \$1,311,652.00 Final Contract Amount: \$1,113,516.06
If final amount is different from original amount, please explain (change orders, extra work, etc.).
Change Order/Extra Work
Did you or any Subcontractor, file any claims against the Agency? Circle one: Yes No
Did the Agency file any claims against you? Circle one: Yes No
If you answered yes to either of the above two questions, please explain and indicate outcome of claims.
N/A

[Continue to Next Page]

Upon request of the City, the Bidder shall furnish evidence showing a notarized financial statement, financial data, construction experience, or other additional information.

Failure to provide truthful answers to the questions above or in the following References Form may result in the Bid being deemed non-responsive.

<u>Urban Runoff Certification</u>. The Bidder certifies to the City that he/she has trained his/her employees and Subcontractors, if any, for Urban Runoff management and has included sufficient sums in the Bid Price to cover such costs of training as stipulated in the most current Regional Water Quality Control Board requirements, including the Municipal Separate Storm Sewer System National Pollutant Discharge Elimination System (NPDES) Permit. The Contractor is responsible for all clean up and payment of all fines levied as a result of any illegal discharge (as defined in NPDES permit) occurring as a result of the Contractor's Work and/or operations.

I, the undersigned, certify and declare that I have read all the foregoing answers to the Bidder's Proposal – Contractor's Statement and know their contents. The matters stated in the Bidder's Proposal – Contractor's Statement answers are true of my own knowledge and belief, except as to those matters stated on information and belief, and as to those matters I believe them to be true. I declare under penalty of perjury under the laws of the State of California that the foregoing is correct.

Company

Signature:

Name: Michael Murray

Title: Vice President

Date: March 7, 2023

Signature!

Name: Kristen Paulino

Title: Corporate Secretary

Date: March 7, 2023

Bid Results

Bidder Details

Vendor Name Hardy and Harper, Inc Address 32 Rancho Circle

Lake Forest, California 92630

United States Respondee Morgan Churnock Respondee Title Bid Coordinator Phone 714-444-1851

Email mchurnock@hardyandharper.com

Vendor Type CADIR License # 215952

CADIR

Bid Detail

Bid Format Electronic

Submitted 03/15/2023 10:50 AM (PDT)

Delivery Method Bid Responsive

Bid Status Submitted Confirmation # 322668

Respondee Comment

Buyer Comment

Attachments

File Title Copy of Bid - 03.15.2023.pdf Non-Collusion Declaration.pdf Corporate Minutes of the Special Meeting of Hardy Corporate Minutes of the Special Meeting of Hardy Evidence of capacity of the person(s) signing & Harper Dated 01-04-21.pdf Executed Bid Bond.pdf

Copy of Bid - 03.15.2023.pdf Non-Collusion Declaration.pdf & Harper Dated 01-04-21.pdf Executed Bid Bond.pdf

File Name

File Type Bidder's Proposal - Contractor's Statement Noncollusion Declaration Form the Bid to bind the Bidder

Bid Bond

Subcontractors

Showing 8 Subcontractors

Name & Address	Desc	License Num	CADIR	Amount	Туре
All American Asphalt 400 E. 6th Street Corona, California 92879	Cold Mill / Excavation / GlasPave	267073	1000001051	\$772,351.00	CADIR
Case Land Surveying, Inc. 614 N. Eckhoff Street Orange, California 92868	Survey	L5411	1000001533	\$105,000.00	
Chrisp Company 2280 S Lilac Ave. Bloomington, California 92316	Striping	374600	1000000306	\$39,000.00	
GRANSTROM MASONRY, INC. PO Box 7041 Torrance, California 90504	Pavers	629489	1000004794	\$72,000.00	
MD Rubberized Crack fill, LLC 32 Rancho Circle Lake Forest, California 92630	Crack Seal	986686	1000006438	\$7,000.00	
MSL Electric 2918 E La Jolla Anaheim, California 93806	Electrical	822450	1000000550	\$21,000.00	
O'Duffy Construction 29254 Duffy Street Romoland, California 92585	Underground	647025	1000006692	\$210,000.00	
V&E Tree Service PO Box 3280 Orange, California 92865	Tree Removals	654506	1000001936	\$30,000.00	

City of Manhattan Beach

Cycle 2 Street Resurfacing Project Encompassing Agnes Road, 27th and 29th Streets (E1274-22C), bidding on 03/15/2023 11:00 AM (PDT)

Line Items

Discount Terms No Discount

Base Bid Sched	ule				\$1,870,000.00	
1	Mobilization	LS	1	\$177,155.25		Yes
2	Clearing and Grubbing	LS	1	\$150,000.00	\$150,000.00	Yes
3	SWPPP/BMP's	LS	1	\$10,000.00	\$10,000.00	Yes
4	Construction Survey Staking	LS	1	\$40,000.00	\$40,000.00	Yes
5	Remove Existing Concrete Curb, Concrete Curb and Gutter, Wood Curb and Concrete Band	LF	2	\$35.00	\$70.00	Yes
5	Remove Existing Asphalt Concrete Pavement	SF	51780	\$3.50	\$181,230.00	Yes
7	Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewalk Improvements	SF	9896	\$11.00	\$108,856.00	Yes
В	Remove Existing Catch Basin		1	\$3,500.00	\$3,500.00	Yes
9	Prune/Grind Tree Roots	EA		\$2,000.00	\$2,000.00	Yes
10	Unclassified Excavation	CY	1250	\$155.00	\$193,750.00	Yes
11	Construct Standard 6" Curb with 12" Gutter	LF	403	\$55.00	\$22,165.00	Yes
12	Construct 4" Type C Rolled Curb	LF	2916	\$36.00	\$104,976.00	Yes
13	Construct Curb and Gutter, Curb, Rolled Curb, Swale and Band Transitions	LF	274	\$80.00	\$21,920.00	Yes
14	Construct Standard Sidewalk Construct Access Rome including Removal of Interfering Particles of Existing Curb. Cutter and Sidewalk	SF	183	\$15.00	\$2,745.00	Yes
15	Construct Access Ramp, including Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA	3	\$8,600.00	\$25,800.00	Yes
16	Construct Cross Gutter/Spandrel	SF	90	\$35.00	\$3,150.00	Yes
17	Construct 6" Wide Concrete Band	LF	292	\$33.00	\$9,636.00	Yes
18	Construct 4" AC over 6" AB Roadway Structural Section	SF	50845	\$5.15	\$261,851.75	Yes
19	Construct 6" AC Pavement Slot Pave	LF	51	\$35.00	\$1,785.00	Yes
20	Construct AC Pavement behind New Curb	SF	595	\$15.00	\$8,925.00	Yes
21	Construct Concrete Pavement behind New Curb	SF	3067	\$15.00	\$46,005.00	Yes
22	Construct Brick Pavement behind New Curb	SF	446	\$30.00	\$13,380.00	Yes
23	Construct Concrete Paver and/or Stone Pavement behind New Curb	SF	422	\$150.00	\$63,300.00	Yes
24	Construct Turf Block behind New Curb	SF	80	\$35.00	\$2,800.00	Yes
25	Furnish and Install 18" RCP	LF	7	\$1,800.00	\$12,600.00	Yes
26	Connect to Existing Pipe with PCC Collar	EA	1	\$2,600.00	\$2,600.00	Yes
27	Construct Curb Opening Catch Basin with Manhole in Street (Case B)	EA	1	\$30,000.00	\$30,000.00	Yes
28	Adjust Manhole to Grade	EA	5	\$1,700.00	\$8,500.00	Yes
29	Adjust Valve, Water Meter and Electrical Box to Grade	EA	24	\$1,200.00	\$28,800.00	Yes
30	Relocate Water Meter and Reconnect Service Line	EA	11	\$12,500.00	\$137,500.00	Yes
31	Recover and Reinstall the In Road Warning Lights System	LS	1	\$25,000.00	\$25,000.00	Yes
32	Signing and Striping	LS	1	\$20,000.00	\$20,000.00	Yes
33	Traffic Control	LS	1	\$150,000.00	\$150,000.00	Yes
Additive Bid Sc	hedule A - Flournoy South				\$80,000.00	
34	Mobilization	LS	1	\$2,402.75	\$2,402.75	Yes
35	Clearing and Grubbing	LS	1	\$1,000.00	\$1,000.00	Yes
36	SWPPP/BMP's	LS	1	\$500.00	\$500.00	Yes
37	Construction Survey Staking	LS	1	\$3,000.00	\$3,000.00	Yes
38	Mill Existing Pavement to a Depth of 1.5'	SF	10835	\$1.25	\$13,543.75	Yes
39	Construction Standard 6" Curb with 12" Gutter	LF	44	\$55.00	\$2,420.00	Yes
40	Construct Access Ramp, including Removal of Interfering Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA		\$8,600.00	\$17,200.00	Yes
41	Construct 6" AC Pavement Slot Pave	LF	47	\$35.00	\$1,645.00	Yes
42	Construct 1.5" ARHM Overlay	SF	10835	\$2.10	\$22,753.50	Yes
43	Furnish and Place Glasspave 25 Paving Fabric	SF	10835	\$1.00	\$10,835.00	Yes
			10835	\$1,700.00	\$1,700.00	Yes
44	Adjust Manhole to Grade					
45	Signing and Striping	LS		\$2,000.00	\$2,000.00	Yes
46	Traffic Control	LS	1	\$1,000.00	\$1,000.00	Yes
Additive Bid Sc	hedule B - Flournoy North				\$1,110,000.00	

ltem #	Item Code	Tyne	Item Description	иом	QTY	Unit Price	Line Total	Response	Comment
48	Rem oode	Турс	Clearing and Grubbing	LS	1	\$10,000.00	\$10,000.00	Yes	Comment
49			SWPPP/BMP's	LS	1	\$1,000.00	\$1,000.00	Yes	
50			Construction Survey Staking	LS	1	\$10,000.00	\$10,000.00	Yes	
51			Remove Existing Concrete Curb, Concrete Curb and Gutter, Wood Curb and Concrete Band	LF	288	\$35.00	\$10,080.00	Yes	
52			Remove Existing Tree	EA	8	\$3,500.00	\$28,000.00	Yes	
53			Remove Existing Asphalt Concrete Pavement	SF	53273	\$3.50	\$186,455.50	Yes	
54			Remove Existing Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewalk Improvements	SF	3472	\$11.00	\$38,192.00	Yes	
55			Unclassified Excavation	CY	1195	\$155.00	\$185,225.00	Yes	
				LF	46		\$4,140.00		
56			Construct 6" Curb, Type A1-6			\$90.00		Yes	
57			Construct Standard 6" Curb with 12" Gutter	LF 	666	\$55.00	\$36,630.00	Yes	
58			Construct Standard 8" Curb with 18" Gutter	LF	14	\$130.00	\$1,820.00	Yes	
59			Construct 4" Type C Rolled Curb	LF	2237	\$36.00	\$80,532.00	Yes	
60			Construct Curb and Gutter, Curb, Rolled Curb, Swale and Band Transitions	LF	300	\$80.00	\$24,000.00	Yes	
61			Construct Standard Sidewalk	SF	1878	\$15.00	\$28,170.00	Yes	
62			Construct Access Ramp, including Removal of Interfering Portions of Existing Curb, Gutter and Sidewalk	EA	5	\$8,600.00	\$43,000.00	Yes	
63			Construct Cross Gutter/Spandrel	SF	319	\$35.00	\$11,165.00	Yes	
64			Construct 6" Wide Concrete Band	LF	231	\$33.00	\$7,623.00	Yes	
65			Construct 4" AC over 6" AB Roadway Structural Section	SF	48749	\$5.15	\$251,057.35	Yes	
66			Construct AC Pavement behind New Curb	SF	1419	\$15.00	\$21,285.00	Yes	
67			Construct Concrete Pavement behind New Curb	SF	1175	\$15.00	\$17,625.00	Yes	
68			Construct Brick Pavement behind New Curb	SF	382	\$30.00	\$11,460.00	Yes	
69			Construct Concrete Paver and/or Stone Pavement behind New Curb	SF	92	\$150.00	\$13,800.00	Yes	
70			Construct Turf Block behind New Curb	SF	92	\$35.00	\$3,220.00	Yes	
71			Construct Parkway Culvert Connection to Existing Catch Basin	LS	1	\$15,000.00	\$15,000.00	Yes	
72			Adjust Manhole to Grade	EA	4	\$1,700.00	\$6,800.00	Yes	
73			Adjust Valve, Water Meter and Electrical Box to Grade	EA	12	\$1,200.00	\$14,400.00	Yes	
74			Remove and Reconstruct Residents Pathway to Join Existing Gate Access	SF	13	\$120.00	\$1,560.00	Yes	
75			Furnish and Plant Turf	SF	232	\$40.00	\$9,280.00	Yes	
76			Signing and Striping	LS	1	\$10,000.00	\$10,000.00	Yes	
77			Traffic Control	LS	1	\$15,000.00	\$15,000.00	Yes	
Additiv	e Bid Schedu	ıle C -	Marine Avenue			. ,	\$570,000.00		
78			Mobilization	LS	1	\$6,753.50	\$6,753.50	Yes	
79			Clearing and Grubbing	LS	1	\$5,000.00	\$5,000.00	Yes	
80			SWPPP/BMP's	LS	1	\$1,000.00	\$1,000.00	Yes	
81			Construction Survey Staking Remove Evisting Congrete Curb Congrete Curb and Cutter Wood Curb and Congrete Band	LS	1	\$7,000.00	\$7,000.00	Yes	
82			Remove Existing Concrete Curb, Concrete Curb and Gutter, Wood Curb and Concrete Band	LF	62	\$35.00	\$2,170.00	Yes	
83			Remove Existing Asphalt Concrete Pavement	SF	31712	\$3.50	\$110,992.00	Yes	
84			Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewalk Improvements	SF	2634	\$11.00	\$28,974.00	Yes	
85			Unclassified Excavation	CY	629	\$155.00	\$97,495.00	Yes	
86			Construct Standard 6" Curb with 12" Gutter	LF	27	\$55.00	\$1,485.00	Yes	
87			Construct 4" Type C Rolled Curb	LF	1790	\$36.00	\$64,440.00	Yes	
88			Construct Curb and Gutter, Curb, Rolled Curb, Swale and Band Transitions	LF	170	\$80.00	\$13,600.00	Yes	
89			Construct 4" AC over 6" AB Roadway Structural Section	SF	26070	\$5.15	\$134,260.50	Yes	
90			Construct AC Pavement behind New Curb	SF	1003	\$15.00	\$15,045.00	Yes	
91			Construct Concrete Pavement behind New Curb	SF	1785	\$15.00	\$26,775.00	Yes	
92			Construct Brick Pavement behind New Curb	SF	526	\$30.00	\$15,780.00	Yes	
93			Construct Turf Block Behind New Curb	SF	58	\$35.00	\$2,030.00	Yes	
94			Adjust Manhole to Grade	EA	3	\$1,700.00	\$5,100.00	Yes	
95			Adjust Valve, Water Meter and Electrical Box to Grade	EA	3	\$1,200.00	\$3,600.00	Yes	
96			Relocate Water Meter and Reconnect Service Line	EA	1	\$12,500.00	\$12,500.00	Yes	

Item #	Item Code	Туре	Item Description	UOM	QTY	Unit Price	Line Total	Response	Comment
97			Signing and Striping	LS	1	\$8,000.00	\$8,000.00	Yes	
98			Traffic Control	LS	1	\$8,000.00	\$8,000.00	Yes	
Additive	Additive Bid Schedule D - 14th Street								
99			Mobilization	LS	1	\$3,831.00	\$3,831.00	Yes	
100			Clearing and Grubbing	LS	1	\$1,000.00	\$1,000.00	Yes	
101			SWPPP/BMP's	LS	1	\$500.00	\$500.00	Yes	
102			Construction Survey Staking	LS	1	\$2,000.00	\$2,000.00	Yes	
103			Remove Existing Concrete, Brick, Paver, Stone and Turfblock Pavement/Driveway/Sidewalk Improvements	SF	940	\$11.00	\$10,340.00	Yes	
104			Mill Existing Pavement to a Depth of 1.5"	SF	10340	\$1.25	\$12,925.00	Yes	
105			Construct Standard Sidewalk	SF	250	\$15.00	\$3,750.00	Yes	
106			Construct Access Ramp, including Removal of interfering Portions of Existing Curb, Gutter and Sidewalk	EA	2	\$8,600.00	\$17,200.00	Yes	
107			Construct Cross Gutter/Spandrel	SF	440	\$35.00	\$15,400.00	Yes	
108			Construct 6" AC Pavement Slot Pave	LF	100	\$35.00	\$3,500.00	Yes	
109			Construct 1.5" ARHM Overlay	SF	10340	\$2.10	\$21,714.00	Yes	
110			Furnish and Place Glasspave 25 Paving Fabric	SF	10340	\$1.00	\$10,340.00	Yes	
111			Signing and Striping	LS	1	\$1,500.00	\$1,500.00	Yes	
112			Traffic Control	LS	1	\$1,000.00	\$1,000.00	Yes	
Additive	e Bid Schedu	le E - A	dditive Bulb-Outs				\$65,000.00		
113			P-921 Bulb Out Improvements at Marine/25th per Sheet 38	LS	1	\$15,000.00	\$15,000.00	Yes	
114			P-921 Bulb Out Improvements at Ardmore/Flournoy per Sheet 39	LS	1	\$50,000.00	\$50,000.00	Yes	

Printed 03/15/2023

Line Item Subtotals

Section Title	Line Total
Base Bid Schedule	\$1,870,000.00
Additive Bid Schedule A - Flournoy South	\$80,000.00
Additive Bid Schedule B - Flournoy North	\$1,110,000.00
Additive Bid Schedule C - Marine Avenue	\$570,000.00
Additive Bid Schedule D - 14th Street	\$105,000.00
Additive Bid Schedule E - Additive Bulb-Outs	\$65,000.00
Grand Total	\$3,800,000.00

DESIGNATION OF SUBCONTRACTORS [Public Contract Code Section 4104]

STREET RESURFACING PROJECT – CYCLE 2 Project number: P-919

List all Subcontractors who will perform Work or labor or render service to the Contractor in or about the construction of the Work or improvement, or a Subcontractor licensed by the State of California who, under subcontract to the Contractor, specially fabricates and installs a portion of the Work or improvement according to detailed drawings contained in the Plans and Specifications, in an amount including bridges, in excess of one-half of one percent of the Contractor's total Bid or \$10,000.00, whichever is greater. If all in excess of one-half of one percent of the Contractor's total Bid or, in the case of bids or offers for the construction of streets or highways, Subcontractors do not fit on this page, attach another page listing all information for all other Subcontractors.

Name under which Subcontractor is Licensed and Registered	CSLB License Number(s) and Class(es)	DIR Contractor Registration Number	Address and Phone Number	Type of Work (e.g., Electrical)	Percentage of Total Bid (e.g., 10%)*
All American Asphalt	267073	1,00000	Corona, CA (951) 734-7600	Cold Mill, Ex., GlasPane	20./.
Case Land Surveying	112411	100000	Orange, CA (714) 628-8948	Survey	3.1.
Chrisp	374600	1000000	Fremont, CA (5/0) 656-2840	Striping	1.7.
Granston	629489	1,00000	Torrance, CA (310)327-2527	Paves	2.7.
MD Rubbenzed Crackfill	980086	100000	(949) 273-6130	Crack Scal	0.5%

The percentage of the total Bid shall represent the "portion of the work" for the purposes of Public Contract Code Section 4104(b).

DESIGNATION OF SUBCONTRACTORS [Public Contract Code Section 4104]

STREET RESURFACING PROJECT – CYCLE 2 Project number: P-919

including bridges, in excess of one-half of one percent of the Contractor's total Bid or \$10,000.00, whichever is greater. If all improvement, or a Subcontractor licensed by the State of California who, under subcontract to the Contractor, specially fabricates and installs a portion of the Work or improvement according to detailed drawings contained in the Plans and Specifications, in an amount List all Subcontractors who will perform Work or labor or render service to the Contractor in or about the construction of the Work or in excess of one-half of one percent of the Contractor's total Bid or, in the case of bids or offers for the construction of streets or highways, Subcontractors do not fit on this page, attach another page listing all information for all other Subcontractors.

rk Percentage of Total (e.g., 10%)*	cal 1.1.	und 6%.	1.1.	
Type of Work (e.g., Electrical)	Electrical	Underground	Tice Removals	
Address and Phone Number	Anahem, CA (7/4) 693-4837	Romoland, CA (951) 928-0992	Orange, CA (714)997-0903	
DIR Contractor Registration Number	1000000	100000	000000/	
CSLB License Number(s) and Class(es)	822450	647025	65450c	
Name under which Subcontractor is Licensed and Registered	MSL Electric	O'Duffy Constaction	V+ETEC	

The percentage of the total Bid shall represent the "portion of the work" for the purposes of Public Contract Code Section 4104(b).

BID BOND

STREET RESURFACING PROJECT – CYCLE 2 Project number: P-919

KNOW ALL PERSONS BY THESE PRESENTS that:

WHEREAS the City of Manhattan Beach ("City"), has issued an invitation for Bids for the Work described as follows: Cycle 2 Street Resurfacing Project Encompassing Agnes Road, 27th and 29th Streets, Project No. P-919

WHEREAS Hardy & Harper, Inc., 32 Rancho Circle, Lake Forest, CA 92630

(Name and address of Bidder)

("Principal"), desires to submit a Bid to City for the Work.

WHEREAS, Bidders are required to furnish a form of Bidder's security with their Bids.

NOW, THEREFORE, we, the undersigned Principal, and Fidelity and Deposit Company of Maryland

777 South Figueroa Street, Suite 3900, Los Angeles, CA 90017

(Name and address of Surety)

("Surety"), a duly admitted surety insurer under the laws of the State of California, as Surety, are held and firmly bound unto the City in the penal sum of Ten Percent of the Amount Bid Dollars (\$\frac{10\%}{}\]

being not less than ten percent of the total Bid price, in lawful money of the United States of America, for the payment of which sum well and truly to be made, we bind ourselves, our heirs, executors, administrators, successors, and assigns, jointly and severally, firmly by these presents.

THE CONDITION OF THIS OBLIGATION IS SUCH THAT, if the hereby bounded Principal is awarded the Contract for the Work by the City and, within the time and in the manner required by the bidding specifications, enters into the written form of Contract included with the bidding specifications, furnishes the required Bonds (one to guarantee faithful performance and the other to guarantee payment for labor and materials), and furnishes the required insurance coverage, then this obligation shall become null and void; otherwise, it shall be and remain in full force and effect.

In case suit is brought upon this instrument, Surety further agrees to pay all court costs incurred by the City in the suit and reasonable attorneys' fees in an amount fixed by the court. Surety hereby waives the provisions of Civil Code Section 2845.

IN WITNESS WHEREOF, this instrument has been duly executed by Principal and Surety, on the date set forth below, the name of each corporate party being hereto affixed and these presents duly signed by its undersigned representative(s) pursuant to authority of its governing body.

Dated: March 8th, 2023	
"Principal"	"Surety"
Name: Hardy & Harper, Inc.	Company Name: Fidelity and Deposit Company of Maryla
Address: 32 Rancho Circle	Address: 777 South Figueroa Street, Suite 3900
Lake Forest, CA 92630	Los Angeles, CA 90017
Telephone No.: (714) 444-1851	Telephone No.: (213) 270-0600
Signature: Print Name: Michael Murray Title: Vice President Date:	Signature: Print Name: Dwight Reilly Title: Attorney-In-Fact Date: March 8th, 2023
Signature:	
Print Name: <u>Kristen Paulino</u>	
Title: Corporate Secretary	
Date:	

NOTE: This Bond must be dated, all signatures must be notarized, and evidence of the authority of any person signing as attorney-in-fact must be attached.

CALIFORNIA ALL-PURPOSE ACKNOWLEDGMENT

	######################################
A notary public or other officer completing this certificate document to which this certificate is attached, and not the	te verifies only the identity of the individual who signed the e truthfulness, accuracy, or validity of that document.
State of California)	
County of Orange)	
On March 14, 2023 before me,	Morgan E. Churnock, Notary Public
Date	Here Insert Name and Title of the Officer
personally appeared Michael Murray and Kristen	Paulino
	Name(s) of Signer(s)
subscribed to the within instrument and acknowle	evidence to be the person(s) whose name(s) ks/are edged to me that he/ske/they executed the same in s/hær/their signature(s) on the instrument the person(s), ted, executed the instrument.
x	l certify under PENALTY OF PERJURY under the laws of the State of California that the foregoing paragraph is true and correct.
MORGAN E. CHURNOCK	WITNESS my hand and official seal.
Commission # 2377551 My Comm. Expires Oct 5, 2025	Signature of Notary Public
Place Notary Seal Above	TIONAL ————
Though this section is optional, completing this	information can deter alteration of the document or form to an unintended document.
Description of Attached Document	
	Document Date:
Number of Pages: Signer(s) Other Than	n Named Above:
Capacity(ies) Claimed by Signer(s) Signer's Name: Michael Murray	Signer's Name: Kristen Paulino
✓ Corporate Officer — Title(s): Vice President	✓ Corporate Officer — Title(s): Corporate Secretary
☐ Partner — ☐ Limited ☐ General	☐ Partner — ☐ Limited ☐ General
☐ Individual ☐ Attorney in Fact ☐ Guardian or Conservator	☐ Individual ☐ Attorney in Fact☐ Trustee☐ Guardian or Conservator☐
Other:	☐ Other:
Signer Is Representing:	Signer Is Representing:
Hardy & Harper, Inc.	Hardy & Harper, Inc.
7559789787789789789789789789789789789789789	

©2014 National Notary Association • www.NationalNotary.org • 1-800-US NOTARY (1-800-876-6827) Item #5907

ACKNOWLEDGMENT

A notary public or other officer completing this certificate verifies only the identity of the individual who signed the document to which this certificate is attached, and not the truthfulness, accuracy, or validity of that document.

validity of that document.	
State of California	
County of Orange	
On 03/08/2023 before me,	Melissa Ann Vaccaro, Notary Public
	(insert name and title of the officer)
personally appeared Dwight Reilly	
	vidence to be the person(s) whose name(s) is/are
	ledged to me that he/she/they executed the same in
person(s), or the entity upon behalf of which the	y his/her/their signature(s) on the instrument the
person(s), or the entity upon behalf of which the	person(s) acted, executed the mattument.
I certify under PENALTY OF PERJURY under the	he laws of the State of California that the foregoing
paragraph is true and correct.	
WITNESS my hand and official seal.	MELISSA ANN VACCARO
	COMM. #2401942 % Notary Public-California %
5-0-0-11	ORANGE COUNTY My Comm. Expires May 12, 2026 (
Signature	(Seal)
Melissa Ann Vaccaro	, (Seal)

ZURICH AMERICAN INSURANCE COMPANY COLONIAL AMERICAN CASUALTY AND SURETY COMPANY FIDELITY AND DEPOSIT COMPANY OF MARYLAND POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS: That the ZURICH AMERICAN INSURANCE COMPANY, a corporation of the State of New York, the COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, a corporation of the State of Illinois, and the FIDELITY AND DEPOSIT COMPANY OF MARYLAND a corporation of the State of Illinois (herein collectively called the "Companies"), by Robert D. Murray, Vice President, in pursuance of authority granted by Article V, Section 8, of the By-Laws of said Companies, which are set forth on the reverse side hereof and are hereby certified to be in full force and effect on the date hereof, do hereby nominate, constitute, and appoint Daniel HUCKABAY, Frank MORONES, Dwight REILLY, Arturo AYALA, Shaunna ROZELLE OSTROM, Benjamin WOLFE, Chelsea LIBERATORE, Ben STONG, Michael D. STONG, R. NAPPI, Adrian LANGRELL of Orange, California, its true and lawful agent and Attorney-in-Fact, to make, execute, seal and deliver, for, and on its behalf as surety, and as its act and deed: any and all bonds and undertakings, and the execution of such bonds or undertakings in pursuance of these presents, shall be as binding upon said Companies, as fully and amply, to all intents and purposes, as if they had been duly executed and acknowledged by the regularly elected officers of the ZURICH AMERICAN INSURANCE COMPANY at its office in New York, New York., the regularly elected officers of the FIDELITY AND DEPOSIT COMPANY OF MARYLAND at its office in Owings Mills, Maryland., in their own proper persons.

The said Vice President does hereby certify that the extract set forth on the reverse side hereof is a true copy of Article V, Section 8, of the By-Laws of said Companies, and is now in force.

IN WITNESS WHEREOF, the said Vice-President has hereunto subscribed his/her names and affixed the Corporate Seals of the said ZURICH AMERICAN INSURANCE COMPANY, COLONIAL AMERICAN CASUALTY AND SURETY COMPANY, and FIDELITY AND DEPOSIT COMPANY OF MARYLAND, this 10th day of November, A.D. 2022.

ZURICH AMERICAN INSURANCE COMPANY
COLONIAL AMERICAN CASUALTY AND SURETY COMPANY
FIDELITY AND DEPOSIT COMPANY OF MARYLAND

By: Robert D. Murray Vice President

sawn & Brown

By: Dawn E. Brown Secretary

State of Maryland County of Baltimore

On this 10th day of November,, A.D. 2022, before the subscriber, a Notary Public of the State of Maryland, duly commissioned and qualified, **Robert D. Murray, Vice President and Dawn E. Brown, Secretary** of the Companies, to me personally known to be the individuals and officers described in and who executed the preceding instrument, and acknowledged the execution of same, and being by me duly sworn, deposeth and saith, that he/she is the said officer of the Company aforesaid, and that the seals affixed to the preceding instrument are the Corporate Seals of said Companies, and that the said Corporate Seals and the signature as such officer were duly affixed and subscribed to the said instrument by the authority and direction of the said Corporations.

IN TESTIMONY WHEREOF, I have hereunto set my hand and affixed my Official Seal the day and year first above written.

3 (000) (3)

Constance A. Dunn, Notary Public My Commission Expires: July 9, 2023

onstance a. Dun

NONCOLLUSION DECLARATION FORM TO BE EXECUTED BY BIDDER AND SUBMITTED WITH BID [Public Contract Code Section 7106]

STREET RESURFACING PROJECT – CYCLE 2 Project number: P-919

The undersigned declares:		
I am the <u>Vice President</u> of <u>Hard</u> Bid.	y & Harper, Inc	e, the party making the foregoing
The Bid is not made in the interest of, or on company, association, organization, or corporate The Bidder has not directly or indirectly induces sham Bid. The Bidder has not directly or indirectly any Bidder or anyone else to put in a sham Bid any manner, directly or indirectly, sought by anyone to fix the Bid price of the Bidder or any element of the Bid price, or of that of any other true. The Bidder has not, directly or indirectly, thereof, or the contents thereof, or divulged inforpartnership, company, association, organizati thereof, to effectuate a collusive or sham Bid, and entity for such purpose.	tion. The Bid is d or solicited a ctly colluded, coll, or to refrain fragreement, conther Bidder, or Bidder. All standard his submitted his rmation or data on, Bid deposi	genuine and not collusive or sham. ny other Bidder to put in a false or onspired, connived, or agreed with om bidding. The Bidder has not in ommunication, or conference with r to fix any overhead, profit, or cost ratements contained in the Bid are or her Bid price or any breakdown relative thereto, to any corporation, tory, or to any member or agent
Any person executing this declaration on behalf venture, limited liability company, limited lia represents that he or she has full power to exe of the Bidder.	ability partners	hip, or any other entity, hereby
I declare under penalty of perjury under the lattrue and correct and that this declaration Lake Forest		ed on <u>3/7/2023</u> [date], at
Signature: Printed Name: Michael Murray, Vice President	Signature: at Printed Nam	e: Kristen Paulino, Corporate Secretary
Date: March 7, 2023	Date:	March 7, 2023

ADDENDA ACKNOWLEDGMENT FORM

STREET RESURFACING PROJECT – CYCLE 2 Project number: P-919

Bidder's Name:	Hardy & Harper, Inc.
The Bidder shall	signify receipt of all Addenda here, if any:

Addendum Number	Date Received	Signature
r		,
		,
	,	

If there are more Addenda than there is room in the chart above, attach another page acknowledging receipt of the Addenda.

MINUTES OF THE SPECIAL MEETING OF HARDY & HARPER, INC.

A special meeting of the directors of HARDY & HARPER, INC. was held at the principal office of the corporation, on January ______, 2021, at 11:00 a.m. pursuant to the call made by the Secretary and written notice waived by the directors by signing these minutes.

Pursuant to the provisions and bylaws, DANIEL MAAS as Chief Financial Officer and KRISTEN PAULINO, as Secretary of the Corporation, presided over the meeting.

The purpose of the meeting was to nominate and elect two Vice-Presidents of the Company.

Present at the meeting were all of the Directors of the Corporation:

DANIEL MAAS

KRISTEN S. PAULINO

TESSA MAAS

DANIEL MAAS was re-elected President and Chief Executive Officer, KRISTEN PAULINO was re-elected Secretary, TANNER HAMBRIGHT was elected Vice-President of Strategic Development, and as Vice-President he is hereby authorized to sign contracts on behalf of the corporation. MICHAEL MURRAY was elected Vice-President/Operations Manager for the corporation with authority to sign contracts on behalf of the corporation and authorized to sign checking and bank accounts on behalf of the corporation where the corporation has established bank and checking accounts.

There being no further business it was moved second and carried that the meeting be adjourned.

DATED: January 4, 2020 ha

DANIEL. MAAS, Director/President

KRISTEN PAULINO, Director/Secretary

TESSA MAAS, Director



CONTRACTORS STATE LICENSE BOARD ACTIVE LICENSE



License Number 215952

Entally CORP

Business Name HARDY & HARPER INC

Classification(s) A C-8 C12

Exoiration Date 12/31/2023

www.cslb ^a.gov



Contractor Information	Registration History	
	Effective Date	Expiration Date
Legal Entity Name		
HARDY & HARPER, INC.	06/15/18	06/30/19
Legal Entity Type	05/00/17	06/20/10
Corporation	05/09/17	06/30/18
Status	06/08/16	06/30/17
Active		
Registration Number	06/19/15	06/30/16
100000076		
Registration effective date	07/02/14	06/30/15
07/01/22	07/01/10	06/20/20
Registration expiration date	07/01/19	06/30/20
06/30/23	07/01/20	06/30/21
Mailing Address		
32 Rancho Circle Lake Forest 92630 CA United Stat	07/01/21	06/30/22
Physical Address	07/04/00	06/20/22
32 Rancho Circle Lake Forest 92630 CA United Stat	07/01/22	06/30/23
Email Address		
cicamen@hardyandharper.com		
Trade Name/DBA		
License Number (s)		
CSLB:215952		
CSLB:215952		

Legal Entity Inf	formation
------------------	-----------

Corporation Entity Number:

C0443071

Federal Employment Identification Number:

952251022

President Name:

Dan T. Maas

Vice President Name:

Michael Murray

Treasurer Name:

Secretary Name:

CEO Name:

Kristen Paulino

Agency for Service:

Agent of Service Name:

Dan T Maas

Agent of Service Mailing Address:

32 Rancho Circle Lake Forest 92630 CA United States of America

Worker's Compensation

Do you lease employees through Professional Employer Organization (PEO)?:

No

Please provide your current worker's compensation insurance information below:

PEO

PEO

PEO

PEO InformationName

Phone

Insured by Carrier

Policy Holder Name:

Insurance Carrier:

Email

Policy Number: Inception date: **Expiration Date:** HARDY & HARPER, INC.

OLD REPUBLIC GENERAL INSURANCE CORF

A1CWA0013900

04/15/22

04/15/23